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1/4 fE FOREREREARHERLR 10,000
1/5 = Bt EEAARHFEER 5,000/
1/5 28 FErETEBEERIEHEFER 5,000/
1/5 28 BAETEBESEBIEHEESR 3,000
1/9 g DAY HEBITER 10,0004
1/10 = EILNERRIZI 2= TR R BT ESNHLOEND 2,500
1/10 28 S HEEGEARESESHERRE 2,000
1/10 28 KHEHFESNHLDEN 1,500
1/10 28 BLUEMSHER 5,000/
1/11 2E FHHBRHFESNHLOEN 2,000
1/11 2% FEGthERFFEEILS 1,500
1/11 28 ”RAHMRHFESIAHVELILR 2,000
1/12 28 RUBRHFEFESNHLOOEL 2,000
1/12 £2E AAFHRHERELS 2,500
1/12 RE KEEMRFFESRUHIBAETFIEZAIR 2,000
1/13 28 AXKMBEHFESNHLDEN 3,000/
1/16 g WORRMBFEHFELR 10,000M
1/17 2% FMHEOBIKYHERGESHES 2,000
1/17 fiE BLURREBEHES 10,000
1/18 = AEmESEREHER 5,000
1/18 fE FLUEEERSFER 10,000
1/18 RE FREEHFHRHESNOHVIESR 3,000
1/19 28 FAEHSREESHEXRS 8,000
1/20 fig HeFUMRIAKRSEHES 10,000M
1/22 - BAIEZERAAKHTEERX#ES 5,000
1/22 28 FEBRBIZERIRS 5,000
1/24 2E RIUhEHESAERMRIKBEHIEOEN 5,000
1/24 =8 THMERFEEOBR 5,000
1/26 28 REHMRHEOEL 3,000
1/27 28 f#BIUBIRER BEE-25 %888 o5 6,000
1/5 BE CHMAHOXZELAN 116,370
1/16 BBE HERIEETFEOEDLE) 14,550
1/22 BBE HERIEEFHEDHEDLE) 8,910/
1/22 BE HERIEEFEOHEDLE) 6,630
a8 & 292,460




